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KF L F HEHR | AOE 5 £ KF £ Fh e | AOE 5 E=S
JKOET/\H 76 306 146 160 KOBTAEI—TH 130 360 169 191
KOBETEHEH 297/ 1,015 523 492 KOBTARET—TH 185 362 163 199
JKOBT LU 877! 2,668 1,363 1,305 KOBTAET=TH 126 283 154 129
KO BT L 113 493 234 259 KOBSIF 229 654 311 343
JK QBT L 1,914| 5979| 3,055| 2,924 7K 21 BT B 118 251 126 125
JK O BT R 307 1,005 505 500 JKOETHAE 59 168 84 84
KOBLHAA 110 406 199 207 KOBTEERE 71 188 93 95
KO BT4E 38 145 77 68 KOBTE DRI 33 93 44 49
JKOETFH 205 634 303 331 KOBT#HET—TH 45 130 61 69
7K O BT 3k B 444 1,221 593 628 KOBTFEIZTH 69 200 93 107
KOETHRAE 361| 1,167 589 578 KOETEAR A K 108 251 128 123
KOBTE A 284 892 424 468 KOBTEEA R 210 562 278 284
KOBRTRAFFH R 231 552 285 267 KOBTAR#EEF 59 102 64 38
KOBTIARE 91 337 165 172 KOBT#E %7 64 176 77 99
JKOBET=FII 184 663 312 351 JKOBT/\IR 138 370 173 197
KOET &SR 19 81 38 43 JKOET/\E 115 259 138 121
KOBTSE LW 32 158 79 79 JK O BT 5 142 382 193 189
KOBT=XKF 517 1,716 823 893 KOETHEA K 155 431 208 223
KO BT 46 169 591 271 320 JKOETHEA 145 416 199 217
KO BTALH 98 357 163 194 JKOETAI 165 479 237 242
JKOETIL E 100 318 161 157 7K O BT Fh R 128 342 171 171
KOBTHEAIR 608| 1,226 700 526 KOEBTHE 46 97 44 53
KOETE R 542| 1,302 667 635 KOBTE#O 57 165 89 76
KOETAE 434 1576 803 773 KOETFRAMAO 184 476 233 243
JK O BT R 4H 40 166 81 85 JKOETKA 485 1,372 677 695
KO BT#I 546| 1,756 857 899 KORTENE 107 216 132 84
KOBTS 4B 124 394 184 210 KOBRTEANI—TH 198 588 295 293
7K O BT g I 108 458 227 231 KOBRTEANIZ=TH 233 573 309 264
JK O ET#0 %5 94 368 179 189 KOBTEA#O 79 226 109 117
KOBTRRZE 51 169 75 94 AKOBTIGER—TH 189 352 199 153
JK O BT STHT 130 371 166 205 KOBTIRZ=ZTH 112 289 148 141
7K O BT ZR BT 115 305 144 161
7K O BT #8E 102 251 120 131 | JKOHT &t | 13,545] 39,859] 19,910] 19,949]
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* ok x A A0 * x %

RFH HHEER | AOE 5 = RFHZI R [ AOE 5 E=S

= [LIET KA R 66 219 97 122 FE R 92 358 169 189
= (LI BT &4 A 165 604 274 330 FERT# 259 989 487 502
TILBTEE 27 107 54 53 FERXELH 82 328 151 177
+ BT E)I] 150 526 268 258 FERMAXAR 94 362 161 201
TILETES 29 112 48 64 RERXEH 232 588 282 306
+ LB 48 167 76 91 REMERE 122 460 230 230
T BT EEER 29 118 55 63 FE T 152 502 238 264
T LET L% R 29 87 41 46 FERXETS 242 816 386 430
o 1]y o 11 490 1,313 707 606 RERSH 97 382 193 189
o 1]} o N1 662| 2,089 1,048 1,041 FRZE T B 244 898 429 469
T ILETFEF 22 91 43 48 FERLH 230 793 370 423
TILETEE /B 46 201 102 99 FERTHEET 157 580 259 321
TILETE L 39 159 77 82 FERE 195 720 354 366
+ [LIETEF E BF 68 235 115 120 BRI EHR 49 194 94 100
+ ILETKE 21 96 45 51 FERTIA 84 330 160 170
T ILETIE S 84 345 172 173 RERSE 43 160 73 87
+ ILBTRITEF 116 377 199 178 RERARH 86 287 130 157
+ ILET TS 91 377 182 195 FER/IMER 163 705 330 375
T BT fER 161 613 298 315 FEEHER 100 416 194 222
+ [LET K EF 430| 1,504 775 729 ER B BT (257 103 414 198 216
FEESE 131 554 269 285

RIS | 2,773] 9,340| 4676] 4,664 S RTFER 169 566 272 294
FEERES 116 393 204 189

I FEH & [ 3.242] 11,795] 5.633] 6.162]
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RFRFR HHEER | AOE B = RFHZI R [ AOE B =S

BT FE 390| 1,257 602 655 FERAESEARETH 145 428 217 211
HFmETEXR 294 855 402 453 BEREESEARE2TH 107 364 182 182
B ET R 793| 2,433| 1,175/ 1,258 FREEAE  EARB3TH 80 255 126 129
BT R Hi5 55 189 86 103 FEREESEAREI4TH 84 268 140 128
AR 116 398 195 203 FERAES S EARESTH 85 278 150 128
e S 73 272 127 145 HEREESEARRI6TH 82 282 132 150
FrETEXR 47 143 71 72 FEREESEARRI7TH 73 238 118 120
g BTt H 355| 1,292 629 663 FRiEES EARISTH 106 375 190 185
BT E 92 352 167 185 FERAES EAREIOTH 127 429 216 213
B T 8 A 198| 690| 346| 344 FRETAE~ EARI10T H 109] 333 174 159
HRATHR 159 539 271 268 HRiAEESE1TH 155 457 225 232
FrIET ¥ H 120 401 206 195 FmEAESE2TH 259 828 410 418
FrETEZa 194 729 350 379 FmEAES E3TH 230 725 366 359
A ET TR 439| 1,369 682 687 FERAEESEATH 163 554 276 278
B ETIE B 48 166 74 92 HFmETAES ES5TH 230 783 385 398
A m BT T /&R 59 212 101 111 _

R ETHEF 96 351 167 184 | T &t | 6,280] 20,542] 10,084] 10,458]
BT EI 95 381 176 205

FREETFTEYR 47 175 81 94

HETEER 59 202 95 107

TR 1T H 99 300 158 142

2T H 138 372 182 190

TR 03T H 154 466 235 231

FrEirshi4TH 125 401 199 202




HEH- AOMETR (ER17ETEF)
* ok ok F& ANk k ok
R % HEa | ADat | B &
EXEEER 1,303| 3,935/ 1,957/ 1,978
15 ZE BT 48 L) 437| 1,224 611 613
{EZET;IH 338| 1,130 559 571
{EZEETH 161 280 140 140
15 2 HT 4 32 126 59 67
15 ZEHT = BT 110 415 190 225
EESE 240 770 375 395
18 ZEHT 4K 417 1,189 564 625
EEME 389| 1,152 557 595
15 ZEHBTHE R 100 348 165 183
15 ZE M7 h 87 235 692 371 321
EESg AN 51 177 86 91
EEatl 165 567 275 292
EEBT/NIHE 62 208 98 110
EXHETA 144|364 187| 177 e | A0t | & =
EXEBTLEE 145 475 225 250 KOET &t 13,545| 39,859| 19,910( 19,949
EXETHE 59| 223 118 110 LTILET &t 2773| 9.340| 4676] 4664
EELIN=Y 45 186 84| 102 FHEH &t 3,242| 11,795| 5633| 6,162
EEMZERE 183 546 264 282 gl &t 6,280 20,542| 10,084( 10,458
_ B 4616[ 14007 6,880 7,127
B | 4616[14,007] 6.880] 7.127] HEMm S5t 30,456] 95,543| 47,183] 48,360
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